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Model Test One

—Band Four—
Part] Listening Comprehension (20 minutes)
Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversa-
tion, a question will be asked about what was said. The conversation and question will be
spoken only once. After each question there will be a pause. During the pause, you must read
the four suggested answers marked a, b, ¢ and d, and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.

1. A. Railway station. B. Air terminal.

. Hotel. D. Post office.
. She likes to get mail.
. She hasn’t seen her friends just lately.
. She lives in the same house with the man and woman who are talking.
. She is their best friend.
. She has not bought him a gift yet.
. She bought him a watch.
. She bought him a book.
. She bought him a case for his coin collection.
. In a kitchen. B. In an orchard.
. In a garden. D. At a picnic.
. He does not understand it.
He does not like it.
He is used to it.
He does not have to take it.
. He is sick. B. He is worried.
. He is angry. D. He is confident.
. Go to a dance. B. Go to the Student Centre.
. Go to a lecture. D. Stay at home.
2. B. 5.
7. D. 9.
. She knows where she is. B. She finds it boring.

W
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. She cannot hear very well. D. They keep her awake.
10. A. He needed an electrician. B. The water was running.
C. He had no hot water. D. There was no heat.



Section B
Directions: In this section, you will hear 3 short passages. At the end of each passage, you will

hear some queéstions. Both the passage and the questions will be spoken only once. After you
hear one question, you must choose the best answer from the four choices marked a, b, ¢, and
d. Then mark the corresponding letter on the Answer Sheet with a single line through the cen-

tre.

>

Questions 11 to 13 are based on the passage you have just heard.

11.

12.

13.

A. India. B. Greece.

C. Spain. D. America.

A. 1500 B. C. B. 500 B. C.

C. 800 A.D. D. 1500 A. D.

A. An Indian textile expert. B. An European trader.

C. A Greek historian. D. A seaman from North Africa.

Questions 14 to 17 are based on the passage you have just heard.

14.

15.

16.

17.

A. It was situated in the North.

B. It was situated in the South.

C. It occupied a section of the Potomac River.

D. It moved from place to place.

A. Because the government wanted to commemorate Columbus.
B. In order to please George Washington, the first President.
C. Because the only available site was in Maryland.

D. In order not to favor any particular state.

A. In the same year as the Capital building was opened.

B. When the District of Columbia was established.

C. When Washington became the first President.

D. In the same year that Maryland granted the land.

A. It is about the White House.

B. Itis about the U. S. Congress.

C. It is about the capital of the U. S.

D. It is about George Washington.

Questions 18 to 20 are based on the passage you have just heard.

18.

19.

20.

A. Easy. B. Difficult.

C. Profitable. D. Interesting.

A. Ploughing the land. B. Cutting down the trees.
C. Digging up the stumps. D. Removing the stones.

A. They come from the rocky mountains.

B. They come up through the soil from the rocks below
C. They fall from the stone walls.

D. They were carried there 200 years ago.
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Part I Reading Comprehension (35 minutes)
Directions: There are 4 reading passages in this part. Each passage is followed by some ques-
tions or unfinished statements. Each question or unfinished statement is given four suggested
answers marked a, b, ¢ and d. You should choose the best answer. Then mark the corre-
sponding letter on the Answer Sheet with a single line through the centre. Questions 21
through 25 are based on the following reading.

The food we eat seems to have profound effects on our health. Although science has
made enormous steps in making food more fit to ¢at, it has, at the same time, made many
foods unfit to eat. Some research has shown that perhaps eighty percent of all human illnesses
are related to diet and forty percent of cancer is related to the diet as well, especially cancer of
the colon(% B). Different cultures are more prone to (& T) contract certain illnesses because
of the food that is characteristic in these cultures. That food is related to illness is not a new
discovery. In 1945, government rescarchers realized that nitrates(f§ B8 h) and nitrites(3F 74 B8
£8), commonly used to preserve color in meats, and food additives, caused cancer. Yet, these
carcinogenic additives remain in our food, and it becomes more difficult all the time to know
which things on the packaging labels of processed food are helpful or harmful. The additives
which we eat are not all so direct. Farmers often give penicillin to beef and poultry, and be-
cause of this, penicillin has been found in the milk of treated cows. Sometimes similar drugs
are administered to animals not for medicinal purposes, but for financial reasons. The farmers
are simply trying to fatten the animals in order to obtain a higher price on the market. Al-
though the Food and Drug Administration (FDA) has tried repeatedly to control these pro-
cedures, the practices continue.

21. How has science done a disservice to mankind?

A. Because of science, disease caused by contaminated food has been virtually eradi-
cated.
B. It has caused a lack of information concerning the value of food.
C. As a result of scientific intervention, some potentially harmful substances have
been added to our food.
D. The scientists have preserved the color of meats, but not of vegetables.
22. What are nitrates used for?
A. Tihey preserve flavor in packaged foods.
B. They preserve the color of meats.
C. They are the objects of research.
D. They cause the animals to become fatter.
23. What does FDA mean?
A. Food Direct Additives
B. Final Difficult Analysis
C. Food and Drug Administration.



D. Federal Dairy Additives
24. The word carcinogenic means most nearly the same as
A. trouble—making ' B. color—retaining
C. money—making D. cancer—causing
25. Which of the following statements is not true?
A. Drugs are always given to animals for medical reasons.
B. Some of the additives in our food are added to the food itself and some are given
to the living animals.
C. Researchers have known about the potential hazards of food additives for over
thirty—five years.
D. Food may cause forty percent of cancer in the world.

Questions 26 through 30 are based on the following pasage.

Petroleum products, such as gasoline, kerosine, home heating oil, residual fuel oil, and
lubricating oils, come from one source—crude oil found below the earth’s surface, as well as
under large bodies of water, from a few hundred feet below the surface to as deep as 25000
feet into the earth’s interior. Sometimes crude oil is secured by drilling a hole through the
earth, but more dry holes are drilled than those producing oil. Pressure at the source or pump-
ing forces crude oil to the surface.

Crude oil wells flow at varying rates, from ten to thousands of barrels per hour. Petrol-
eum products are always measured in 42—gallen barrels.

Petroleum products vary greatly in physical appearance: thin, thick, transparent or
opaque, but regardless, their chemical composition is made up of only two elements: carbon
and hydrogen, which form compounds called hydrocarbons. Other chemical elements found
in union with the hydrocarbons are few and are classified as impurities. Trace elements are al-
so found, but these are of such minute quantities that they are disregarded. The combination
of carbon and hydrogen forms many thousands of compounds which are possible because of
the various positions and joinings of these two atoms in the hydrocarbon molecule.

The various petroleum products are refined from the crude oil by heating and condensing
the vapors. These products are the so—called light oils, such as gasoline, kerosine, and
distillate(Z& #8) oil. The residue remaining after the light oils are distilled is known as heavy or
residual fuel oil and is used mostly for burr/ning under boilers. Additional complicated refining
processes rearrange the chemical structure of the hydrocarbons to produce other products,
some of which are used to upgrade and increase the octane(3 £%) rating of various types of
gasolines.

26. Which of the following is not true?

A. Crude oil is found below land and water.
B. Crude oil is always found a few hundred feet below the surface.
C. Pumping and pressure force crude oil to the surface.
D. A variety of petroleum products is obtained from crude oil.
— 4 —



27. Many thousands of hydrocarbon compounds are possible because.
" A. the petroleum products vary greatly in physical appearance
B. complicated refining processes rearrange the chemical structure
C. the two atoms in the molecule assume many positions
D. the pressure needed to force it to the surface causes molecular transformation
28. Which of the following is true?
A. The various petroleum products are produced by filtration.
B. Heating and condensation produce the various products.
C. chemical separation is used to produce the various products.
D. Mechanical means such as the centrifuge are used to produce the various
products.

29. How is crude oil brought to the surface?

A. expansion of the hydrocarbons

B. pressure and pumping

C. vacuum created in the drilling pipe

D. expansion and contraction of the earth’s surface

30. Which of the following is not listed as a light oil?

A. distillate oil B. gasoline
C. lubricating oil D. kerosine

Questions 31 through 35 are based on the following passage

Tokyo—I wish that everyone worried about foreign imports could visit Japan. They
would quickly realize that imports do not, on balance, “cost” American workmen their jobs.
Quite the contrary. The very prosperity of Japanese industry—a prosperity which depends en-
tirely on exports is in fact creating jobs for Americans. Coal, mined by West Virginia miners,
fuels a large part of Japan’s industry. Its cars, trucks, buses and machinery run to a large ex-
tent on oil produced in U. S. refineries.

Americans can rejoice in the great and growing prosperity of Japan. They can do so out
of the sheerest self—interest. For with every upward thrust of Japan’s GNP. the docks of
Yokohama and Kobe become even busier unloading goods produced by U. S. workers. The
dollars we spend for Japanese goods have a way of making a fast return trip to U. S. shores.

In an economic sense Japan has become one of our closest partners. It is our third best
customer. Its economy is more closely tied to the U. S. economy than are those of Western
Europe (whereas Western Europe markets about 10% of its exports in the U. S. , Japan mar-
kets 27% of hers).

In this context, thinking Americans ought to share the Japanese government’s hopes for
doubling Japan’s gross national product over the next decade. The experts I talked with re-
gard this goal as attainable, but they do not minimize the difficulties. Such expansion will re-
quire a tremendous increase in Japanese exports; lacking raw materials, Japan must well
steadily increase amounts of manufactured goods to pay for the raw materials its growing in-
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dustry is gulping(%). To double the GNP, experts estimate Japan will also have to double its
exports and the U. S. will have to swallow its share of them.

The U. S. of course, cannot take them all. There is, naturally, a point beyond which we
cannot permit domestic industry to be hurt. Nor is our market limitless. As for Western
Europe, it remains basically cool to trade with Japan. Hence the U. S. is pressing Japan to
open new markets in Asia and other underdeveloped areas through the use of long—term cred-
its.

31. The author maintains that Japan’s exports to the United States

A. cannot be shipped to this country
B. should go to Western Europe
C. actually provide jobs for Americans
D. exceed its imports from this country
32. Japan is largely dependent upon the United States for
A. toys B. food
C. doubling its exports D. oil
33. GNP, as used in this passage, means
A. Greater National Policy
B. Greater Native Purchases
C. Growing National Prosperity
D. Gross National Product
34, One of the advantages of trading with Japan is that
A. we get cheap cameras, textiles, and toys
B. the money we spend in Japan returns quickly to the United States
C. Japan will double her economy
D. Japan is our partner
35. Japan ships to the United States
A. 10% of its exports
B. about one fourth of its exports
C. half of the exports
'D. 75% of its exports

Qucstioné 36—40 are based on the following passage:

When early humans hunted and gathered food, they were not in control of their envi-
ronment. They could only interact(#4 & 1F J) with their surrounding as lower organisms did.
When humans learned to make fire, however, they became capable of altering their environ-
ment. To provide themselves with fuel they stripped bark from trees, causing the trees to die.
Clearings were burned in forests to increase the growth of grass and to provide a greater graz-
ing( ) area for the wild animals that humans fed upon. This development led to farming
and the domesiication of animals. Fire also provided the means for cooking plants which had
previously been inedible(RBEFZ #7). Only when the process of meeting the basic need for food
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reached a certain level of sophistication was it possible for humans to follow other pursuits
such as the founding of cities.

36. Which of the following is the best title for this passage?
A. The Development of Civilization.
B. The Evolution of Farming Techniques.
C. Basic Food—gathering Techniques.
D. Hunting as a Source of Food.

37. According to the passage, one way that humans maintained their food supply before
they dominated their environment was by
A. hunting animals. B. cooking.
C. stripping trees. D. burning forests.

38. According to the passage, carly humans gained better control of their environment
when they learned to
A. eat meat. B. make fire.
C. live with lower. organisms. D. improve their hunting skills.

39. According to the passage, it became possible for people to pursue less basic objctives
after
A.lower organisms were no longer a danger.
B. healthful cooking technique had evolved.
C. agriculture had been developed.
D. a steady fuel supply had been found.

40. Tt can be inferred from the passage that before the development of agriculture people
were
A. strictly based on other animals for food.
B. hungry most of the time.
C. primarily migratory.
D. afraid of fire.

Part [ Vocabulary and Structure (20 minutes)
Directions: There are 30 incomplete sentences in this part. For each sentence there are four
choices marked a, b, ¢ and d. Choose the One that best completes the sentence. Then mark the
corresponding letter on the Answer Sheet with a single line through the centre.

41. In economics, graphs are used to functions.
A.rate B. list
C. illustrate D. verify
42. My friend told me that he intends to skating next winter.
A. take on B. take to
C. take over D. take in



" 43, It was essential that we the contract before the end of the month.

‘ B. signed

A.sign
C. had signed D. were signing
44, He's to come this evening.
Al likely B. probable
C. maybe D. probably
45. 1 never expected you to at the meeting. I thought you were abroad.
] A. turn around B. turn on
C. turnin D. turn up

y\\ - 46. He studied hard at school when he was young, contributes to his success in lat-
I

| er life.

A. which B. that
~ C. so that D. therefore

;)y @ To answer accurately is more important than
A. a quick finish B. to finish quickly
C. finishing quickly D. you finish quickly

\QY 48. Staying in a hotel costs renting a room in a dormitory for a week.
B. twice as much as

A. twice more than
C. as much twice as

}i\}b You needn’t worry the cost of the operation.
B. as regards.
NS e

D. as much as twice

A.in regards to

C. with regards to D. with regard to

)\ﬂ ‘56. Reform has brought many changes in our lives.
A about— B. down
C.up D. forward
" sl at the Town Hall, the Queen was welcomed by the Mayor.
! A.On arrivalﬂ%\ B. At arrival

\

C.On reaching'J D. At reaching

&/ &3. She died after a long

A. disease B. sickness
C. illness D. failing
D 53. He asked me whether John to Beijing.
L/ A. has flown B. had flown
. B C. flew D. will fly
1,\‘ <§1 I'll call you at 8. 30 and give you a lift to work.
L . A.in B.for C.at D.up
55. “have the Lees found the lost car?”
' Sﬁ “It was found off the highway. ”
% A. to abandon B. abandoned
— 8 —



C. abandoning D. and abandoned

~ "“;\‘.56. Nowhere else along the coast such shallow water so far from land.
{ A. there is B.itis
C. where is D. is there
N\57. Travelers their reservations well in advance if they want to fly during the
@s Christmas holidays.
A. had to get better B. had better get
C. had better got D. had better to get
v 58. Why is there traffic on the streets in February than in May?
A. fewer B. few C. little D. less
y}?. He was seen the cupboard and take out the books.
A.to open B. open
C. opening D. opens
60. , I would have told you.

I A.If T would have known it
B. If T had have known it
C. Should I know it
D. Had I known it
6%61. After a long study, a possible solution

A. emerged B. emitted
C. exposed D. executed
", 62. They were so far away that I couldn’t their faces clearly.
'\(/ A. see through B. make out -
C. see over D. make up
b 63. It is wrong to think that automatic machines can do all man does.
Ig A. what B. that
C. in which D. at which _
. %Boy’s Clubs do not deprive poor children the opportunity to participate in
(Y\'\; sports.

A. from B. in C. of D. at

C \55 By the time my course ends, a lot about America.

A.T'll learn B. T learn
C. I'll have learnt D. I have learnt

66. rapid spread of railways and the increase in ocean transport, long distance

C traveling became more common. '

A.The B. It was the
C. With the D. There was a

67. My dictionary is nowhere to be found. T in the library.
A. must leave it B. should have left it



Q A. If he should pass, his parents will be happy.

C. must have left it

. 38. Which of the following sentences is correct?

D.

had left it

B. If he should pass, his parents will have been happy.
C. If he should pass, his parents would have been happy.
D. Should he pass, his parents would be happy.

™ 69. There’s no beer left and the pubs are shut so you'll have to it.

A.goin for
C.go off

(/70. Not until a monkey is sevreral years old

/ mother.
A.it begins
C.does it begin
Part [V Cloze Test

B.go without

D.go through

B.and begin

D.beginning

to exhibit signs of independence from its

(15 minutes)

Directions: There are 20 blanks in the following passage. For each blank there are four
choices marked a, b, ¢ and d on the right side of the paper. You should choose the one that
best fits into the passage. Then mark the corresponding letter on the Answer Sheet with a sin-

gle line through the centre.

Henry’s job was to examine cars which
crossed the frontier to make sure thai they
were hot smuggling anything into the coun-
try. Every evening except at weekends, he 71
see a factory worker coming up the hill to-
wards the frontier, 72 a bicycle with a big
load of straw on it. When the bicycle 73 the
frontier, Henry used to stop the man and 74
him take the straw off and 75 it. Then he
would examine the straw very carefully to
see 76 he could find anything, after which he
would look in all the man’s pockets 77 he let
him tie the straw again. The man would then
put it on his bicycle and go off down the hill
with it. Although Henry was always 78 to
find gold or jewllery or other valuable things
79 in the straw, he never found 80 even
though he examined it very carefu]ly.?-ie was
sure that the man was §l something, but he
was not 82 to imagine what it could be.

71.

73.

74.

75.

76.

77.

78.

79.

80.

A>0>0>0 >

>

. should
. might

. pushing
. filling

. arrived

came

. force
. make
. show

C. untie

A,

that

C. how

A.

before

C. first

A.

lucky

C. suspecting

A.
C.
A.
C.

had been hidden
have been hidden
nothing
everything

B. would
D. must

'B. pulling

D. carrying
B. appeared
D. reached
B. order

D. call

B. load

D. loose

B. where

D. whether
B. thus

D. so

B. expecting
D. insisting
B. hiding
D. hidden
B. something
D. anything



Then one evening, after he had looked 83 the 81. A. cheating B. smuggling
straw and emptied the factory worker’s C. stealing D. pushing
pockets 84 usual, he 85 to him. “ Listen, 82. A. capable B. possible
Tknow th; you are smu_ggling things 86 this C. able D. clever
frontier. Won’t you tell me what it is that 83. A. through B. thoroughly
you’re bringing into.. the country so C. upon D.up
successfully? I'm an old man, and today’s 84. A. then B. more
my last day on 87. Tomorrow I'm going to C.as ; D. like
88 . I promise that I shall not tell 89 if you 85. A. cried B. said
tell me what you’ve been smuggling. ” The C. ordered D. told
factory worker did not say anything for 90 . 86. A. cross B. past
Then he smiled, turned to Henry and said C. across D. into
quietly, “Bicycle.” 87. A. job B. work
‘ - C. case D. duty
88. A. return B. retreat
C. retire D. rest .
89. A. everyone B. someone
C.no one D. anyone
90. A. long time B. period
C. moment D. some time
Part V. Writing (30 minutes)

Directions: write a composition of 120 words and develop the following 3 topic sentences into
3 paragraphs.

1. Today cigarette smoking is a widespread habit.

2. Cigarette smoking does a lot of harm to people’s health.

3. Smoking should be banned.

Model Test Two

—Band Four—
Part I Listening Comprehension - ; (20 minutes)
Section A
Directions:

1. A. He took the test on Monday.
B. He’s not going to take the test.
C. He is going to take the test later.



. He will take the test next Monday.

. The chemistry class.

. The English class.

. The chemistry and English class.

The physics class.

She doesn’t agree with the man.

. She thinks that it’s better to drive at night.

. She thinks that it’s better to wait.

. She thinks that the man made a wise decision.

. Go to an art exhibition. B. See paintings.
Go to a cinema. D. Go to a concert.
. He hates it.

. He likes it better than the blue dress.

. He doesn’t know which dress she means.

. He doesn’t like it as much as the blue one.

Jazz. B.Music. C.Folk music. D. Folk dance.

8:40. B.7:40. C.7:20. D.8:20.

. Give him a gift for his birthday.

. Forget his birthday.

. Wait too late.

UO®>»»>»00F>»0>»00%>00®» 0

. Pass the time.
9. A. There are fifty trees on one side of Bob’s house.
B. Bob’s house has five trees on either side.
C. There is a total of thirty trees on both sides of Bob’s house.
D. Fifteen trees are standing at the sides of Bob’s house.
10. A. News. B. Weather forecast C.Music D. Time
Section B
Directions:
Questions 11 to 14 are based on the passage you have just heard.
11. A. They went to the station.
B. They went to the airport.
C. They looked for their friends.
D. They got some information.
12. A. They were too late to meet their friends.
B. They were silly that they lost the letter.
C. They were careless not to have looked at the date before.
D. They were busy working that they had forgotten the date.
13. A. Nothing. B. A letter.
C. The wife’s handbag. D. Message.



